
a clt

q-Mq-rT c5-t lrr[:* q;]-rfE -ffi rr6c1rf, d droq wrd d crf,.fo
T{NFrr t A4-g q)-c{ qr.f (a oo foofro) tg 5 3025

to srfftra Ft Tft ot. stelr$ sus, afiofrofro,
alcw, ffi rtdqIEI o\ uEor.erwr EFT qkilcl 

I

yqofrofro et str{rR[ '.ilfl @d'!sq.€ft qqrq- qa

(q-r-fiq ts@drl ;wqlercI d BtreeT H-fi 28.3.08 \rq e.5.2004 d eryir<)

mo1fo-+ g 5- 3.78

fr_h_cT {nqq +1Fr_

F{il-6 28.3.08 d argr+x ftsrfRd 5+l er,lrr+ v d Gffiro eil-il-t" i

"sqiiDp6 fuqT qrf,r t fu g{qF}rd q-q f, ( Gil{f,&--d c-+ IF Ft-=t

to + ot& frfi1"$ o-oe.o *11- 0.42 to) 4.20 *o dQlT

1.102s Bo gf, s.3025 to) uto B@drt qtzlterq i sr<ar

gqofrofio .nt qft tqe{ ({ so e,3e,000:oo(so d ms srdrfr-s aor<) qre t t

vffir ({ d Gr$rR gqoftofro ilaqRT gtr .rr.r"T E0 49,79,047:s0 erqla s0

4s,7s,o4B:OO(SO BErlzl-t,H drcr Brffi Eqr{ 3r-s-drs-s vn)frrq1 .rqr. t t fu-s*r

5q.f,l;I y{flrcrfi f t.n,rr arqr fuqT qr$qr 
I

sq-rtsmSqN sffii e-{ e}, mT E=fd 0.3 t o.s d fiq t t fus -}g

crri,ll'1 :i;:ti ;q;t:tt

.,.ffn 1i:11t1, riatl

ffi
'69ffit'-'-' 

'

'diFt$

f*dL.


